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Example PDL
procedure sort
1 ado while records remain
read record ;
2 If record fieldl = 0
3. then process record ;
store in buffer ;
Increment counter ;
4 : elseif record field? = 0
5 then reset counter ;
6. else process record ;
store In file ;
fa. endif
endif
b enddo
8 rend
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@ Path 1: 1,8
3 O . Path 2: 1,2,3,7b,1,8
S|

| | Path 3: 1,2,4,6,7a,7b,1,8

@ Path 4: 1,2.4.57a,7b.1.8
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PROCEDURE average;

*  This procedure computes the average of 100 or fewer
numbers that lie between bounding values; it also computes the
sum and the total humber valid.

INTERFACE RETURNS average, total.input, total.valid;
INTERFACE ACCEPTS value, minimum, maximum;

TYPE value[1:100] 1S SCALAR ARRAY;
TYPE average, total.input, total.valid;
minimum, maximum, sum 18 SCALAR;
TYPE i I8 INTEGER;
i=n
total.input = total.valid = 0;
sum = 0;
DO WHILE value[i] <> —999 AND total.input < 100 (8
4 increment total.input by 1;
IF value[i] > = minimum AND value[i] < = maximum (6

5 /{ THEN increment total.valid by 1;
7

2

sum = s sum + value[i]
ELSE skip
ENDIF
increment i by 1;
9 ENDDO
IF total.valid > 0 (10
11’ THEN average = sum / total.valid;
—>ELSE average = -999;
13 ENDIF

END average .
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V(G) = 6regions, V(G) =17 edges —13 nodes +2 =6,

V(G) =5 predicates nodes + 1 =6
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path 1: 1-2-10-11-13

path 2: 1-2-10-12-13

path 3: 1-2-3-10-11-13

path 4: 1-2-3-4-5-8-9-2-. . .
path 5: 1-2-3-4-5-6-8-9-2-. . .
path 6: 1-2-3-4-5-6-7-8-9-2-. . .
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Path 1 test case:

value(k) = valid input, where k <jfor 2 <i< 100

value(i) = —999 where 2 <7< 100

Expected results: Correct average based on k values and proper totals.

Note: Path 1 cannot be tested stand-alone but must be tested as part of path 4, 5, and
6 tests.

Path 2 test case:
value(l) = —999
Expected results: Average = —999; other totals at initial values.

Path 3 test case:

Attempt to process 101 or more values.
First 100 values should be valid.
Expectled results: Same as test case 1.

Path 4 test case:
value(i) = valid input where i < 100
value (k) < minimum where kK < |

Expected results: Correct average based on k values and proper totals.
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